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General Instructions :

(1) Please read the instructions carefully.

(it) This question paper consists of 21 questions in two sections : Section-A &
Section-B.

(it1) Section-A has objective type questions whereas Section-B contains
subjective type questions.

(tv) Out of the given (5 + 16 =) 21 questions, a candidate has to answer (5 + 10 =)
15 questions in the allotted (maximum) time of 2 hours.

(v) All questions of a particular section must be attempted in the correct
order.

(vi) Section-A : Objective type questions (24 marks)
(a) This section has 05 questions.
(b) Marks allotted are mentioned against each question/part.
(c) There is no negative marking.
(d) Do as per the instructions given.

(vit) Section-B : Subjective type questions (26 marks)
(a) This section has 16 questions.
(b) A candidate has to do 10 questions.
(c) Do as per the instructions given.
(d) Marks allotted are mentioned against each question/part.

SECTION - A
(Objective Type Questions)
1. Answer any 4 out of given 6 questions on Employability Skills. 4x1=4
(1) Stress generated by peer pressure falls in which category ? 1
(a) Financial (b) Physical
(¢) Social (d) Mental
(1) A __ goal should have a time frame when the goal needs to be
achieved. 1
(a) SMART (b) NEAT
(c) SHARP (d) BRIGHT
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(111) are the ways in which personal information can be leaked
from a computer. 1
(a) Printing (b) Scanning
(¢) Worms (d) Threats

(iv) What is a Trojan Horse ? 1
(a) Race horse (b) Computer virus
(c) Computer game (d) An animal

(v) Explain how entrepreneurs help in job creation ? Give any two

points. 1

(vi) “Small amounts of stress have a positive impact and they help us
stretch ourselves to a new level.” Do you agree with the statement ?

State in true or false. 1

Answer any 5 out of given 6 questions. 5x1=5

(1) What do we call the heavy lines intersecting each other and appear

in a graph form on MAYA workspace ? 1
() Map (b) Cell
(¢) Grid (d) Table

(1) Identify the correct functions of manipulator tools of XYZ axes. 1

(a) Select, Rotate, Count (b) Animate, Render, Show
(¢) Modify, Create, Display (d) Translate, Rotate, Scale

(111) Which option can be used to manage Autodesk account and to check

that how many days are left for trial version ? 1
(a) User Account menu (b) Channel box
(c) Preserve UVs (d) Update triad
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(iv) Which tool allows to create transitions between hard and soft edges? 1
(v)  Which option creates faces connecting the selected border edges ? 1
(vi) Define Shelf. 1
Answer any 5 out of given 6 questions. 5x1=5
(1) Which option adjusts the brightness of the image ? 1
(a) Invert (b) Blend
(¢) Filter (d) Exposure
(11) What is the default value of Alpha gain ? 1
(@ 0 b)) 1
() 0.5 d 1.5
(111) What is the default colour of colour offset ? 1
(@) Red (b) White
(© Black (d) Blue
(iv) Usethe _ attributes to position an image plane relative to the
camera. 1
(v)  What is another name for a shader MAYA ? 1
(vi) The effect of _ 1s related directly to eye space. As the object
moves further away from the eye, the more the texture blurs. 1
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Answer any 5 out of the given 6 questions.

(@)
(11)
(i11)
(iv)
\

(vi)

Answer any 5 out of the given 6 questions.

()

(11)

[=0:: ]

El@' T
Which maps describe how an object reflects its surroundings ?
Which short cut command is used to activate the stamp visible ?
What is the importance of specular weight ?

What material channel does a specular map plug into ?

Which option will define the balance between reflections on surfaces

facing the viewer and on surface edges ?

Define Incandescence.

Suppose you are working in MAYA software and want to display
menus as separate window for repeatedly used menus. Which option

will you use to do the same ?
(a) Tear off menus (b) Marking menus
(¢0 MEL command window (d) Channel box

Rearrange the following steps in correct order to select a specific

menu set.
1. Leave the menu set at polygons.

2.  Menu titles such as Animate, Select, Deform, Skeleton, Skin

etc. will appear.
3. Select Animation on the status line from the drop — down menu.
4.  Choose polygons from menu selector.
@ 4,1,3,2 b) 2,4,3,1
(c 1,4,3,2 d 3,2,4,1
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(111) Read the following statements and identify the correct option :

1. Invert option reverses all texture colours.
2. Invert option is ON by default.

(a) Only statement 1 is correct.

(b) Only statement 2 is correct.

(c) Both statements are correct.

(d) Both statements are incorrect.

(1v) Rearrange the following steps in correct order to apply colour and

shading to an object.
1. Adjust the material attributes.
2. Create a material and assign to the object.
3. Map a texture to any of the material attributes.
4. Set a colour for the object.
(a 4,1,3,2 (b) 2,4,3,1
(0 1,4,3,2 d 3,2,4,1
(v) Read the following given statements and identify the correct option :

1. Bounding box may become too small or too large due to

displacement mapping that changes the volume of an object.

2. Bounding boxes, represent the bounding volume of an object to

speed up operations.
(a) Only statement 1 is correct.
(b) Only statement 2 is correct.
(c) Both statements are correct.
(d) Both statements are incorrect.

(vi) Which option reflects and transmits light with a directional bias and

causes materials to appear rougher or glossier in certain directions ?
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SECTION - B
(Subjective Type Questions)

Answer any 3 out of given 5 questions on Employability Skills. 3x2=

Answer each question in 20-30 words.

How nature helps one in reducing stress ?

What are four physical symptoms of stress ?

Write the four features of 4G.

Is it true that a large capital required for being an entrepreneur ? Discuss.

Entrepreneurship has a positive impact on society. Write down any two.

Answer any 4 out of the given 6 questions in 20-30 words each. 4x2=

How many main menus are there in Maya ? Name these menus.

Briefly define QWERTY hotkeys.

What is specular map ?

Briefly define transparency map.

Explain colour map.

Briefly explain the process to apply the high pass filter.
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Answer any 3 out of the given 5 questions in 50-80 words each. 3x4=12
What is MAYA software ? In which fields MAYA 1is used ? 4
Define Texture mapping with example. 4
What is bump map ? Write down the steps to create bump map. 4
Explain Reflection map. Write down the process to create true reflections. 4

What are the advantages of using high pass layer for sharpening images

in Photoshop ? 4
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